

The Illinois State Toll Highway Authority 2700 Ogden Avenue Downers Grove, Illinois 60515-1703 630/241-6800 630/241-6100 Fax 630/241-6898 TTY 1-800-TOLL-FYI Road Conditions www.illinoistollway.com

BID RESULTS IFB 11-0033 Window Tinting Wednesday, June 8, 2011

1. Vendor Name: Sun Stoppers	Tinting and Graphics	
SUN~SCAPE SB25 SOFT BRONZE ESTIMATED SQUARE FEET OR EQUAL MANUFACTURER:	UNIT PRICE PER SQUARE FOOT (INCLUDING INSTALLATION OF TINT)	TOTAL PRICE
18,261.81 SQUARE FEET	\$3.50	\$64,000.00

2. Vendor Name: Quality Win	dow Tinting	
SUN~SCAPE SB25 SOFT BRONZE ESTIMATED SQUARE FEET OR EQUAL MANUFACTURER:	UNIT PRICE PER SQUARE FOOT (INCLUDING INSTALLATION OF TINT)	TOTAL PRICE
18,261.81 SQUARE FEET	\$2.15	\$39,263.00

3. Vendor Name: Window But	ler, Inc.	
SUN~SCAPE SB25 SOFT BRONZE ESTIMATED SQUARE FEET OR EQUAL MANUFACTURER:	UNIT PRICE PER SQUARE FOOT (INCLUDING INSTALLATION OF TINT)	TOTAL PRICE
18,261.81 SQUARE FEET	\$2.43	\$44,377.00

4. Vendor Name: AAA Glass Ti	int, Inc.	
Alternate Product: Bekaert Films Autumn Bronze 302 Slate 20		
SUN~SCAPE SB25 SOFT BRONZE ESTIMATED SQUARE FEET OR EQUAL MANUFACTURER:	UNIT PRICE PER SQUARE FOOT (INCLUDING INSTALLATION OF TINT)	TOTAL PRICE
18,261.81 square feet	\$3.75	\$68,481.79
Alternate Product: SunTek F	films IDS 20 Bronze	
Sun~scape sb25 soft bronze estimated square feet Or equal manufacturer:	UNIT PRICE PER SQUARE FOOT (INCLUDING INSTALLATION OF TINT)	TOTAL PRICE
18,261.81 square feet	\$3.50	\$64,000.00

5. Vendor Name: Advantage V	Vindow Tinting	
Alternate Product: Panorama Sterling 20*or 40		
Sun~scape sb25 soft bronze estimated square feet Or equal manufacturer:	UNIT PRICE PER SQUARE FOOT (INCLUDING INSTALLATION OF TINT)	TOTAL PRICE
18,261.81 square feet	\$3.83	\$69,943.46
Alternate Product: Panoran	na Sterling Slate 20*or 30	
Sun~scape sb25 soft bronze estimated square feet Or equal manufacturer:	UNIT PRICE PER SQUARE FOOT (INCLUDING INSTALLATION OF TINT)	TOTAL PRICE
18,261.81 square feet	\$3.20	\$58,438.40
Alternate Product: Panoran	na Autumn Bronze	
SUN~SCAPE SB25 SOFT BRONZE ESTIMATED SQUARE FEET OR EQUAL MANUFACTURER:	UNIT PRICE PER SQUARE FOOT (INCLUDING INSTALLATION OF TINT)	TOTAL PRICE
18,261.81 square feet	\$3.20	\$58,438.40
Alternate Product: Solar Ga	rd Silver 20	
Sun-scape sb25 soft bronze estimated square feet Or equal manufacturer:	UNIT PRICE PER SQUARE FOOT (INCLUDING INSTALLATION OF TINT)	TOTAL PRICE
18,261.81 square feet	\$2.85	\$52,046.70
Alternate Product: Solar Ga	rd Solar Bronze 20	
SUN-SCAPE SB25 SOFT BRONZE ESTIMATED SQUARE FEET OR EQUAL MANUFACTURER:	UNIT PRICE PER SQUARE FOOT (INCLUDING INSTALLATION OF TINT)	TOTAL PRICE
18,261.81 SQUARE FEET	\$2.95	\$53,872.90

errors.

6. Vendor: International Energy Savers of Central Florida, Inc.		
SUN~SCAPE SB25 SOFT BRONZE ESTIMATED SQUARE FEET OR EQUAL MANUFACTURER:	UNIT PRICE PER SQUARE FOOT (INCLUDING INSTALLATION OF TINT)	TOTAL PRICE
18,261.81 SQUARE FEET	\$2.99	\$

7. Vendor: Williams Enterprise	e	
SUN~SCAPE SB25 SOFT BRONZE ESTIMATED SQUARE FEET OR EQUAL MANUFACTURER:	UNIT PRICE PER SQUARE FOOT (INCLUDING INSTALLATION OF TINT)	TOTAL PRICE
18,261.81 SQUARE FEET	\$3.65	\$66,655.61

8. Vendor Name: Midwest Glass Tinters, Inc.		
Alternate Product: Llumar R~20		
SUN~SCAPE SB25 SOFT BRONZE ESTIMATED SQUARE FEET OR EQUAL MANUFACTURER:	UNIT PRICE PER SQUARE FOOT (INCLUDING INSTALLATION OF TINT)	TOTAL PRICE
18,261.81 SQUARE FEET	\$3.17	\$57,889.94
Alternate Product: Madico	SB 221	
SUN-SCAPE SB25 SOFT BRONZE ESTIMATED SQUARE FEET OR EQUAL MANUFACTURER:	UNIT PRICE PER SQUARE FOOT (INCLUDING INSTALLATION OF TINT)	TOTAL PRICE
18,261.81 square feet	\$3.43	\$62,638.01
Alternate Product: 3M Affir	nity 15	
SUN~SCAPE SB25 SOFT BRONZE ESTIMATED SQUARE FEET OR EQUAL MANUFACTURER:	UNIT PRICE PER SQUARE FOOT (INCLUDING INSTALLATION OF TINT)	TOTAL PRICE
18,261.81 square feet	\$3.56	\$65,01.04
Alternate Product: 3M NV 25		
SUN-SCAPE SB25 SOFT BRONZE ESTIMATED SQUARE FEET OR EQUAL MANUFACTURER:	UNIT PRICE PER SQUARE FOOT (INCLUDING INSTALLATION OF TINT)	TOTAL PRICE
18,261.81 square feet	\$4.16	\$75,969.13

9. Vendor: Perfection Window	⁷ Films	
SUN~SCAPE SB25 SOFT BRONZE ESTIMATED SQUARE FEET OR EQUAL MANUFACTURER:	UNIT PRICE PER SQUARE FOOT (INCLUDING INSTALLATION OF TINT)	TOTAL PRICE
18,261.81 SQUARE FEET	\$3.79	\$71,586.19



The Illinois State Toll Highway Authority 2700 Ogden Avenue Downers Grove, Illinois 60515-1703 630/241-6800 630/241-6100 Fax 630/241-6898 TTY 1-800-TOLL-FYI Road Conditions www.illinoistollway.com

BID PROPOSALS

RFI 11-0153 Case Management Thursday, June 16, 2011

Vendor Name
1. Lyka Enterprises Inc.
2. Sales Force.Com
3. Dell Marketing, L.P.
4. LockHeed Martin Desktop Solutions
5. Mitratech
6. Tribridge
7. Iron Data
8. Legal Files Software Inc.
9. IBM



The Illinois State Toll Highway Authority 2700 Ogden Avenue Downers Grove, Illinois 60515-1703 630/241-6800 630/241-6100 Fax 630/241-6898 TTY 1-800-TOLL-FYI Road Conditions www.illinoistollway.com

BID PROPOSALS

RFI 11-0153 Case Management Thursday, June 16, 2011

Vendor Name
10. LS Canada Inc.
11. Consilience Software
12. Sustain Technologies, Inc.
13. Column Technologies Inc.
14. Right Now Technologies
15. Bridgeway Software, Inc.
16. Active Network, Inc.
17. Wingswept Communications, Inc.



The Illinois State Toll Highway Authority
2700 Ogden Avenue
Downers Grove, Illinois 60515-1703
630/241-6800
630/241-6100 Fax
630/241-6898 TTY
www.illinoistollway.com

BID PROPOSALS

RFI 11-0153 Case Management Thursday, June 16, 2011

Vendor Name		
18. Apex IT		
19. New Dawn Technologies		
20. Legal Edge Software		
21. Synaptec Software, Inc		
22. Avanade, Inc.		
23. Integrated Software Specialists, Inc. Of Illinois		